SET 2
HqTeA S forer aer

(Secondary Education Examinations - SEE)

e Tt

THY © 3:00 T quItE : 100

et qﬁ?ﬁm | Attempt all the Questions.
THqE ‘%’ (Group 'A") [3x2=6]
1. a)af§ &7 ATHFH! qRFH T & PT AT 21806 R% G A9 T a7 gl oo
ESIRSHISE BSERSIC EISW
If the initial price of an article is Rs. P and annual rate of depreciation is R%, then write

the formula to find the price after T years.
b) TIaT THigaTg FAISTer ATIR T b F.HI. T aRT6R q5 qAES a AL B 99 IH
PIsTebr &A% Hid g7 7 deled |
The base of an isosceles triangle is b cm and equal sides are a cm. What is the area of the
triangle ? Write it.
2. a) AF. P AATIT ACTe |
Define L.C.M.

b) ATE HT TATgHHT Hieaehr SuiTwl Teadl AT L, AT S07TehT SRERAT £, ST 7Y |,
FRFERAREH] A€ N T AT UL Aferear St Afsee. aRF=Rar of 39 99
HiE®T (Md) IT TS I el 4 |

If the lower limit of the median class of any data is L, frequency of that class is f, class interval i,

sum of the frequencies N and the cumulative frequency of pre-median class is cf, then write the
formula for finding the. median (Md).
3. a) U3¢ ATENR T IJELFHMIIR TEE® a9 el ATad ¥ FAorerl dheee derepl
TH delad |
Write the relationship between the areas of a rectangle and a triangle standing on the same
base and-between the same parallel lines.

b) feguert fear O a9 &= &1 hafe LABC= 120"

AT Fed LAOC FI AT I &8 7 TETed |
In the given figure O is the centre of the circle. If A @ C
\0/

ZABC=120", what is the size of the reflex ZAOC ? Write it. m

qHe ‘G (Group 'B") [7 x (2+2) +3 x (2+2+2) =34]
4. a) WUTA I AHHl HAT (GTHT 3 ATAR AHRFA AT 1 FT @R 3 T foohier FAM

AT &, 103,727 & 104.32 TA 9 ¢
According to the money exchange rate of Nepal Rastra Bank, the purchasing and selling rates of 1
American dollar are NRs.103.72 and NRs. 104.32 respectively, Then.
i) WUl %. 57,376 ¥ Hid THNET TR A Al ?

How many American dollars can be exchanged with NRs. 57,376 ?
i) TUTE $500 T FfT TATA FUAT A TS ¢TI TSR, |

How much Nepali rupees can you exchange with $500 ? Find it.
b) fa.®.2072 %1 FAT UIAT METH AT 50,000 T | Afe FfF THIgET g 10% B
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A9 f9.". 2074 T FA=THT AT TETHT ATASIT Hicl 21l 7 TAT AMSAe I |

In the beginning of 2072 B.S., the population of a town was 50,000. If the annual population growth
rate is 10%, what will be the population of the town at the end of 2074 B.S. ? Find it.

. a) YoIe® 3YHT, 44 A T 5 G H. ATH TIT AR dThd (bl |

Find the area of a triangle with sides 3 cm, 4 cm and 5 cm.

b) fagusr THaTE PR fswar B'C'= 6 .91 3 A
CC' = 153F . T w7 &1 FrswaT qa o asTe | . c
In the given equilateral triangular prism B'C'=6cm A 5o
and CC' =15\/§ cm. Find the volume of the prism. - o

6cm

¢) T TIaT TEATHl AT 4851 O A B 9 TG A Mapeded |
If the volume of a sphere is 4851 cubic cm find its diameter.

. a) x*x T xxt+] B AE I TSR
Find the H.C.F. of x* - x and x> + x+ 1

b) X TR : (Simplify) : 316 +3/54 /250

. a) % U 2x—1 =17 Usbel THEAN g b &57 » o T |

Whether the equation +/2x —1 =—1 has a unique solution or not ? Check it.

1 1

b) A T : (Simplify) e T
- X

¢) I AT FANT: IR F@TEeH ANRT 36 T AT Al deIes T AsTed |
If the sum of three consecutive even numbers is 36;-find the numbers. A
. a) fegusr fomn BC %7 geafawg D& T DELAC
B | IT AC=12 4.9 T DE=5 ¥ 9. B
B T AABC FL &R (qbleded |

ZQRS=105", what is the value of ZPQS ? Find it.

c) faguHl FoHT O Fd#T &%, TN TeR@T T A Tqefag & |
afs L AOB=80"9T /BAT & ATd TATNISAE < |

In the given figure O is the centre of the circle, TN,

In the given figure D.is the mid-point of BC and DE_LAC. If B C
the tangent and A is the point of contact. If ZAOB=80" .
find the measurement of ZBAT.

AC=12cm and DE=5¢m. find the area of AABC. D
P _Q
105} T

Q
S

e N

. a) AXYZ AT /x=80°, £/z-40°, xy-6 ¥.HI. T yz=12

6 80°

40 7

b) fegusr faamT O T Hwafaw af | AfE ZQRS=105"

AT /PQS # A Hid &7 7 Ul AT | ‘

In the given diagram O is the centre of thecircle. if v

<__K
B

AT AT Axyz FT AR (HheTed | X
In Axyz , /x=80°, Zz=40°, xy=6 cm and yz=12cm, m
find the area of Axyz.

b) TFeT fzeR AT Afs merE (x) = 6, Yfin-72+8k? B 12em
Yf=16 + k WY ST GE8&R] &A1 IT WS84 |

In a continuous series, if the mean (;) =6, Y fm=72+8k and > f=16 + k, find the total number
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11.

12.

13.

14.

15.

16.

SET 2

of terms.

a) UIal ST3d ¥ T3l [aapT UaTd IHTET STHAT ¥¢ Gedr T fqasmrr ofR s
AT Il A3 8 |
Find the probability of getting a prime number on the dice and head on the coin when a dice
is rolled and a coin is tossed simultaneously.

b) T FRfaUERT 52 I=AHT Tk ATehd ATAATE Tedb Uehdls el T ATGIHA
TEaar arg (fFTsT g | Faata fg= aer T a9 9 ¥ T99 g qeqTiad
IROTHESH! TFATAAEEATS SETSTa |
Two cards are drawn randomly in succession without replacement from a well shuffled
pack of 52 cards. By drawing a tree diagram show the probabilities of all the possible
outcomes of getting and not getting a faced card.

qHg M (Group' C') [10x4=40]
50 ST faamdiess! T THEHT 20 ST Tr J T 15 Sl {51 779 7 WS | afg 47 35
farres werr & afv famar we quRtew faendiesst dea o fawa 79 wred faardiese
FETHT qeeR B A A o JANT TR FeM1 T3e v 76 e faandigser g@n
TS 84 |
In a group of 50 students 20 like only Maths and 15 like only Science. If the number of students who
do not like any of the two subjects is double of the number of students who like both subjects, find
the number of students who like at most one subject by using a Venn-diagram.
THSAT FhEHA 20% B2 T 13% A ATHalghEled TSl Tarell ardl fhia | ATHT 397 Febal
IAATE AHTARIAT G ATagiges A .83.20 fhal fegdr w7 &1 il sefeade #(q &g 7
Tl TS |
A tourist bought a Nepali cap with 20% discount and 13% value added tax. When returning to his
country the VAT amount Rs. 83.20 returned back to him at the airport. What was the marked price
of the cap ? Find it.
feguer feora UQer avTeR AR AUHT B _RITHS®T 27 |
gfe ATIR el q&Ts (BC) 16 HHI. T B (hARIH
AT (PD) 241 .HLAT 7 MRIfASH! Arod" I SR |
The given figure is of a solid square based pyramid. If the
length of side of the base (BC) is 16cm and the length of
the lateral edge (PD) is 2441 cm, find the volume of
the pyramid.

xX+2 x—2 16
+ +

X 4+2x+4 x°-2x+4 x‘'+4x°+16
¥.1000 Fel HAAEEATs aRTE g diftedr | afg 5 41 AA9es T8 HUH 9T TAFT %.10
FH ST 9T I FHIqeT AAqesdrs a1 WA SieUa! (9A7 7 TarenTS el |
Rs. 1000 was distributed equally among a certain number of people. If there were 5 people more,
each would have received Rs. 10 less. Among how many people was the amount distributed ?
Find it.
feguert feraT AE|BC, AB|DC % BF||CE B 99, D F
JHIIT T A E
In the given figure, AE||BC, AB|DC and BF||CE,
then prove that :

WA T ™ : (Simplify) :
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24.

SET 2
i) AABF = ADCE B > C
ii) //ABCD = /[/FBCE
ATIR BC=6 A.HI. T 3915 AD=4 ¥ HI. 9UH T3 FHIGATE YT ABC =1 THe | Pt
ABC &1 STRAMT aRTE §RT T3l HI0 CDE=45" U T3l FHATX Aol CDEF %1
AT 9 TR |
Construct an isosceles triangle ABC having base BC=6cm and the altitude AD=4cm. Also construct
a parallelogram CDEF equal in area to AABC and having one angle CDE=45".
U3¢ JAQUSH FIUEE aRT6R grgd Hel TARTERT T THel | (FRIAT 3 .91 AT TUH
g5Acl qNEe ATALTE B | )
Verify experimentally that the angles in the same segment of a circle are equal. (Two circles having

radii at least 3cm are necessary. )

TIAT TR FAATE 20 Tl ATAT TIAT FGRT THTRN FaA(a T 30°9TeaT | afE o T F@ar=ehr
T 1043 ®IT T 9 TREN I9E TAT AMSTE |

From the roof of a house the angle of depression of the top of a tree 20ft. high was found to be 30°. If
the distance between the house and the tree is 104/3 ft, find the height of the house.

feguer Tergdmar qfedl Trqaier 35 9T x & U TaIiSTe |

The first quartile of the given data is 35, find the value of x.

JTeATs (Marks Obtained) 0-20 | 20-40 | 40-60 | 60-80 |80-100
fa=mmefT =T (No of Students) 2 X 8 5 1
THE T (Group D) [4x5 =20]
FA O 3 FUGET AR 10% of AR SATAAT MG ¥ FAI(SH] Mg T aar 2 auaey
=h1A SATSTHT AR RAT | At 5 a9 ST Fqeiae %, 471,900 a1 99 e Hid fadr 7 oar
TSR |

A sum of money is/placed at simple interest for 3 years at 10% per annum and then the amount is
invested for 2 years at the same rate at compound interest. If the total amount of 5 years became Rs.
471,900, what was the sum ?.Find it.

faguert Tor Tgar |iell T Il (Al sl 3 a&qh! 2l |
It ST T Tl S9ees R 20 TH. T 24 T H. B
LRS! AT 14 G H, @ W9 Ih &I T FAgh! STh
FerepTe g™, | C - 3 3
The given figure is of a solid object made up of'a cone and a - 20em
cylinder. If the heights of the cylinder and cone are 20cm and

24cm respectively and the diameter of the base is 14cm, find the >

total surface area of the object. <« l4em —

24cm

2 =2
Afg x? —2=2% +23 AT, FHTOIT TR :
2 -2
Ifx* -2=23+23, then prove that :
1 -1

i) x=23+23 i)  2x°-6x=5 A
fagusr fo=HT APLBC, BRLAC T CQLAB & 9, 9
AT e - £ OPQ=/OPR
In the given figure, APLBC, BRLAC and CQLAB.
Prove that : ZOPQ=20OPR B v C
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(2)
(b)
(2)
(b)
(2)
(b)
(2)
(b)

(2)

(b)

(©)

(2)

(b)

(2)

(b)

(©)

(2)

(b)

(©)

(2)

(b)

Marking Schemes

(i) PrP(1- i)T

100
(i) Area of isosceles triangle = 2\/4612 — b?
(i) Lowest Common Multiple
- N _ i
Md =1+ (% cf)xf
(i) Ar. of rectangle=2xAr. of triangle.
(i) Reflex ZAOC =240°
(i) $550
(if) Rs. 51,860

() Pr=50,000(1+ %)3

(i) Pt =66550

(1) The triangle is a rt. ZdA

(i) A= 2x3x4=6cm?

(i) Base A= g X 62 = 9v/3cm?
(i) Vol.=9v3 x 15v/3 = 405 c¢m?®
(i) For finding r = 10.5 cm

(i) Diameter =21 cm

(i) 1Mexp=x(x%2+x+1)

(i) .. HCF.=x2+x+1

(i) 2¥3+332-52

(i) O

(i) Findingx =1

(i) Checking .1+ —1

or, Nounique solution.
b

0 s yah

(i) 1

i) 2x+Q2x+2)+(2x+4) =36
(i) Regd. Nos are 10, 12, 14

(i) AADC =30 cm?

(i) AABC =60 cm’

(i) «P=75"

(i) ZPQS =15"

(i) ZOAB=50°

(i) ZBAT = 40°

(i) Zy=60
(i) Axyz=36x 12 x 2 = 18V3cm?
G K=12

(i) N=16+12 =28
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SET 2

10. (a) (i) P(Prime)=2=~ (D)
1
P(H) =7
(i) P (PrimenH) == — (D
(b) N =Non Face Card. 11/51 @ —> FF )
F= Face Card. > . (1+1)
40/, @ —> FN
o @ = e
39/51 @ —> NN |
11. (i) Fig+ description - (1+D)
(i) 20+x+154+2x =50
~x=5 - (D
(i) n(MNS) =45 — (D)
12. (i) 13% of SP=283.20 —- (1)
(i) Sp=640 - (D)
(iii) 80% of M.P.= 640 — (D
(iv) ..M.P.=Rs. 800 - ()
13. (i) Slantht. | = [(21/41)2 — 82
=10 cm. - (D
(i) Vertical ht. (h) =~/10% — 82
=6cm - (D
13, (iii) V=:x162x6 — (D
(iv) ~.v=512c.c. — (D
. x3+23 +x3-23 16
140 (x2+2x+4) (x2-2x+4) + x*+4x2+16 = (D)
.. 2x3 16
' Sowmrerien. v - (M)
2(x+2)(x%-2x+4)
(i1) (x2+2x+4)(x2—2x+4) = (D
. 2(x+2)
(V) Gorzrem) — (1)
15. (i) Letno. ofpeople be x.
then, each received Rs. 1090 — (D
(i) No.ofmen=x +5 - (D
..each received Rs. 1000
x+5
1000 1000
(111) T 10 - (D
(iv) ..x =20 — (D
16. (i) AABF=ADCE - (14D
(i) AABF = ADCE - ()
(i) /JABCD = [/FBCE — (D
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17.

18.

19.

20.

21.

22.

23.

(1)
(ii)
(iif)
(iv)
(1)
(i1)
(iif)
(1)

(ii)

(iii)
(iv)
(1)

(ii)
(iii)
(iv)
(1)

(if)
(i)
(iv)
(1)

(ii)
(iif)
(iv)
(v)

(1)

(ii)

For construction of AABC
Drawing a line parallel to BC.
Drawing angle 45°.

For construction //CDEF

For correct figures.

For correct measurements.
Conclusion.

For correct figure and description

C
20 20 ft
-
1073 ft
Tan 300 = 2£
EC
L1 _ AE
V3T 1043
~AE =10 ft.
. Ht. of the house (AB)
=30 ft.

For correct cumulative frequency table.
Q; class = 20-40

35 = 20 + (16:’”

—Z)XQ

X

Sx =4

Letp = Rs.x

L g = Xx3x10 _ 3x
100 10

3x 13x
Amount = x+1—0 = —

10
13x

471900 = 22X (1 4 22)2
10 100

.x = Rs.300,000
For finding height of cone.

ie, h=+v252—-72=24cm

CSA of cone :% X 7% 25
=550cm’
CSA of cylinder= 2 X 2 X 7 x 20
=880 cm’
Base Area = ? X 72
=154 cm®

Total surface area = 1584 cm’

For x% = (21/3)2 +2.25.27 5 + (2‘1/3)2

cx=2"+42""

(1)
(1)
(1)
(1)
(1)
(1+1)

(1)
(1)

(1)
(1)
(1)
(1)
(1)
(1)
(1)

(1)
(1)
(1)

(1)
(1)

(1)

(1)

(1)
(1)

(1)
(1)
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(i) x*=2+1+3(2%+27") (1)
(lV) x3 — 4+12+6x . (1)
(v) ~2x3—6x=5 — (D
(i) PORC and POQB are cyclic quads. — (D
(i) B, C, R and Q are concyclic pts. -— (D
(ili)) ZOPR =Z0OCR and

Z0PQ = Z0BQ (1)

(iv) £OBQ= ZOCR
(v) ..ZOPQ= ZOPR
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